
Name Datum Klasse
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Rechenkreisel, Blatt 3
Aufgaben zur Multiplikation bis 1000

Aufgabe 1

1
11

9
6

Innenprodukt:

5
6

3
11

Innenprodukt:

6
7

5
1

Innenprodukt:

Aufgabe 2

30
1

60

11

Innenprodukt:

2
29

16

29

Innenprodukt:

2

4
24

12

Innenprodukt:

Aufgabe 3

17

12

17

3

Innenprodukt:

2
38

20911

Innenprodukt:

68

90

8

Innenprodukt:
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Lösung: Rechenkreisel, Blatt 3
Aufgaben zur Multiplikation bis 1000

Aufgabe 1

+

1
11

9
6

11

9954

6

Innenprodukt: 594

+

5
6

3
11

30

1833

55

Innenprodukt: 990

+

6
7

5
1

42

355

6

Innenprodukt: 210

Aufgabe 2

+

30
2

11
1

60

2211

30

Innenprodukt: 660

+

1
8

2
29

8

1658

29

Innenprodukt: 464

+

2
3

4
24

6

1296

48

Innenprodukt: 576

Aufgabe 3

+

3
4

17
1

12

6817

3

Innenprodukt: 204

+

2
19

11
1

38

20911

2

Innenprodukt: 418

+

1
6

15
8

6

90120

8

Innenprodukt: 720
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